CRASH COURSE o
Time @Tense ¢




SSC CGL/CHSL TIER 2 (CRASH COURSE)

TIME & TENSE
THROUGH EXERCISE



SSC CGL/CHSL TIER 2 (CRASH COURSE)

FILLERS
BASED ON

IMIVIE (% 1TT=INRS)

N



SSC CGL/CHSL TIER 2 (CRASH COURSE)

1. She......... TV when her
husband came.

(a) watch (b) was
watching

(c) is watching (d) watched

Ans:
B
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2. He always......... to
prove that the earth
revolves round the sun.
(a) tried (b) tries
(c) was trying (d)
Is trying

Ans:
B
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3. He saw me by chance

and.......... the car.
(a) stop (b) stopped
(c) stops (d) was
stopping

Ans
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4. | was watching TV when

she....... in.
(a) comes (b) came
(c) come (d) was
coming

Ans:
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5. She still remembers
the day when she

first........ to church.

(a) went (b) was

going

(c) gone (d) going 4
Ans:

A
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6. The train had left before

l....... the station.

(a) reach (b) was

reaching

(c) reached (d) reaches
Ans:

C
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7. Had you worked hard,
you...... passed?

(a) would (b) will
(c) would have (d) will
have

Ans:

C
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8. We hope that

Papa......... soon.
(a) come (b) is
coming
(c) will come (d) shall
come Ans:
C
-y
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9. Neelam is learning

how........

(a) to type (b) to

typing

(c) typing (d) type
Ans:

A
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10. He....... suffering from
fever since the last week.
(a) is (b) was

(c) has been (d) has

Ans:
C
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11. She has been
suffering from malaria
since she.....her job.
(a) leaves (b) had
(c) left (d) has been
leaving

Ans:
C
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12. They........ the students on
educational tour on next

Monday.

(a) were taking

(b) have taken

(c) are taking

(d) have been taking
Ans:

C
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1. | came to (1)/ know that (2)/
his father has died (3)/ three

days ago. (4)

(3)Replace ‘has died’ by
‘had died’.
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2. When you will find (1)/ out
a solution (2)/ to this
problem, (3)/ you will be

awarded a prize. (4)

(1)Delete will. We
should not use will
after when in such
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3. Before the alarm had stopped
(1)/ ringing (2)/ Nisha had
telephoned (3)/ the police. (4)

(1)Replace ‘Had stopped’
by ‘stopped’.
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4. This is (1)/ the first
time (2)/ that | see such
(3)/ an interesting movie.

(4)

(3)Replace ‘I see’ by | have
seen. Present perfect tense
Is used in such
constructions.
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5. Whenever he is coming
(1)/ here, he brings (2)/ many

(3)/ gifts for me. (4)

(1)This is a habitual act,
use present indefinite.
whenever he comes



SSC CGL/CHSL TIER 2 (CRASH COURSE)

6. Now-a-days (1)/ he teaches
English (2)/ because the teacher of
English. (3)/ has gone for a month’s

leave. (4)

(2)Replace ‘he teaches’ by ‘he
is teaching’.
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7. ‘It is high time (1)/you are
starting (2)/this business’ (3)/
said Ram to Mahesh. (4)

(2)You started is the
correct phrase.
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8. | will let you know (1)/ as
soon as | (2)/ will get (3)/ any

news in this regard. (4)

(3)Replace ‘will get’ by
‘get’.
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9. When | will(1)/ cross fifty,
my (2)/ wife will cross (3)/

forty five. (4)

(1)Replace ‘I will cross’
by ‘l cross’.
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10. The secret of his good
health (1)/ lies in the fact (2)/
that he is getting up early
(3)/ and goes to bed early. 2

(4) .

(3)Replace ‘he is getting up’ by
‘he gets up’ a habitual act, use
Present Indefinite.
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HOME WORK ANSWER

We waste much time on ftrifles.

A. Much time was wasted on trifles.

B. Much time will be wasted on trifles.’
C. Much time is wasted by us on
trifle’s.

D. Much time is wasted on trifles.
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HOME WORK

When | shall see him (a)/ |
will tell him that (b)/ What
he has done is wrong. (c)/
No error. (d)
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